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1. National Centre for Organic and

Natural Farming is located at

(A) Ghaziabad

(B) Indore

(C) Ludhiana

(D) Chennai

2. Which one of the following pairs

is not correctly matched?

Crop Disease

(A) Paddy : Khaira disease

(B) Wheat : Grassy shoot

disease

(C) Groundnut : Tikka disease

(D) Potato : Late blight

3. Pedology is the study of

(A) rock

(B) pollution

(C) soil

(D) disease

4. The required number of

3 budded setts for planting

one hectare area of sugarcane

would be

(A) 40000–45000

(B) 20000–25000

(C) 55000–60000

(D) None of the above

5. Which one of the following is

correct?

(A) P O2 5 ´ 0·830 = P

(B) P O2 5 ´ 0·436 = P

(C) P O2 5 ´ 0·715 = P

(D) P O2 5 ´ 2·290 = P

6. The use of blue-green algae as a

biofertilizer will be most useful

in which crop?

(A) Berseem

(B) Maize

(C) Paddy

(D) Potato
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1. amÔ¥>r` O°{dH$ Edß ‡mH•${VH$ IoVr Ho$›– H$hm±

pÒWV h°?

(A) Jm{µO`m~mX

(B) B›Xm°a

(C) bw{Y`mZm

(D) MofiB©

2. {ZÂZ{b{IV `wΩ_m| _| go H$m°Z-gm EH$ ghr

gw_o{bV Zht h°?

\$gb amoJ

(A) YmZ : I°am amoJ

(B) Johˇ± : J´mgr eyQ> amoJ

(C) _±yJ\$br : {Q>∏$m amoJ

(D) Amby : {nN>oVr Pwbgm

3. noS>mobm∞Or A‹``Z h°

(A) M≈>mZ H$m

(B) ‡XyfU H$m

(C) _•Xm H$m

(D) amoJ H$m

4. EH$ hoäQ>o`a joÃ\$b _| Jfio H$s ~wdmB© Ho$ {bE

AmdÌ`H$ 3 H${bH$mAm| dmbo Qw>H$ãS>moß H$s

gßª`m hmoJr

(A) 40000–45000

(B) 20000–25000

(C) 55000–60000

(D) Cn`w©∫$ _| go H$moB© Zht

5. {ZÂZ{b{IV _| go H$m°Z-gm EH$ ghr h°?

(A) P O2 5 ´ 0·830 = P

(B) P O2 5 ´ 0·436 = P

(C) P O2 5 ´ 0·715 = P

(D) P O2 5 ´ 2·290 = P

6. O°d Cd©aH$ Ho$ Í$n _| Zrb-h[aV e°dmb H$m

Cn`moJ {H$g \$gb _| gdm©{YH$ Cn`moJr

hmoJm?

(A) ~agr_

(B) _∏$m

(C) YmZ

(D) Amby



7. Match List–I with List–II and

select the correct answer using

the code given below :

List—I

( Crop )

List—II

( Variety )

a. Cotton 1. UPAS–120

b. Pigeon pea 2. Surya

c. Groundnut 3. Vikas

d. Sunflower 4. Chitra

Code :

(A) a b c d

3 4 1 2

(B) a b c d

1 2 3 4

(C) a b c d

3 1 4 2

(D) a b c d

1 3 4 2

8. ‘Ear cockle disease’ of wheat is

caused by

(A) nematodes

(B) bacteria

(C) virus

(D) fungus

9. Match List–I with List–II and

select the correct answer using

the code given below :

List—I

( Irrigation stage

in wheat )

List—II

( Days )

a. CRI stage 1. 80–85

b. Tillering stage 2. 20–25

c. Flowering stage 3. 100–105

d. Milking stage 4. 40–45

Code :

(A) a b c d

2 4 3 1

(B) a b c d

3 4 1 2

(C) a b c d

2 4 1 3

(D) a b c d

4 1 3 2

10. e-National Agriculture Market

(e-NAM) scheme was launched

by the Government of India on

(A) 14th April, 2017

(B) 14th April, 2018

(C) 14th April, 2019

(D) 14th April, 2016
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7. gyMr–I H$mo gyMr–II go gw_o{bV H$s{OE Am°a

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$aVo h˛E ghr

CŒma Mw{ZE :

gyMr–I

( \$gb )
gyMr–II

( ‡Om{V )

a. H$nmg 1. Cnmg–120

b. Aaha 2. gy`m©

c. _y±J\$br 3. {dH$mg

d. gyaO_wIr 4. {MÃm

Hy$Q> :

(A) a b c d

3 4 1 2

(B) a b c d

1 2 3 4

(C) a b c d

3 1 4 2

(D) a b c d

1 3 4 2

8. Johˇ± _| "gohˇ± amoJ' hmoVm h°

(A) gyÃH•${_ go

(B) OrdmUw go

(C) {dfmUw go

(D) \$\y±$Xr go

9. gyMr–I H$mo gyMr–II go gw_o{bV H$s{OE Am°a

ZrMo {XE JE Hy$Q> H$m ‡`moJ H$aVo h˛E ghr

CŒma Mw{ZE :

gyMr–I

( Joh±̌ _| qgMmB© H$s
AdÒWm )

gyMr–II

( {XZ )

a. gr0 Ama0 AmB0 AdÒWm 1. 80–85

b. {H$Ño {ZH$bZo H$s AdÒWm 2. 20–25

c. nwÓnmdÒWm 3. 100–105

d. XwΩYmdÒWm 4. 40–45

Hy$Q> :

(A) a b c d

2 4 3 1

(B) a b c d

3 4 1 2

(C) a b c d

2 4 1 3

(D) a b c d

4 1 3 2

10. ^maV gaH$ma ¤mam B©-amÔ¥>r` H•${f _ßS>r

(B©-EZ0 E0 E_0) `moOZm ewÍ$ H$s JB©

(A) 14 A‡°b, 2017 _|

(B) 14 A‡°b, 2018 _|

(C) 14 A‡°b, 2019 _|

(D) 14 A‡°b, 2016 _|



11. Which one of the following pairs

is not correctly matched?

Crop Botanical

Name

(A) Barnyard

millet : Sorghum

bicolor

(B) Finger

millet : Eleusine

coracana

(C) Proso millet : Panicum

miliaceum

(D) Foxtail

millet : Setaria italica

12. Which one of the following pairs

is not correctly matched?

Fertilizer Nutrient

content (%)

(A) Urea : 46% N

(B) Muriate

of potash : 45% K O2

(C) Single super-

phosphate : 16% P O2 5

(D) Potassium

sulphate : 50% K O2

13. International Centre for

Agricultural Research in the Dry

Areas is situated at

(A) Kenya

(B) Mexico

(C) Nigeria

(D) Syria

14. When soil moisture and rainfall

are inadequate during the crop

growing season causing extreme

crop stress and wilting, it is

called

(A) meteorological drought

(B) agricultural drought

(C) hydrological drought

(D) drought year

15. The process of runoff collection

during the period of peak

rainfall in storage tanks, ponds,

etc., is called

(A) humidity

(B) catchment area

(C) watershed

(D) water harvesting

16. Koppen’s climatic classification

is based on

(A) mean annual precipitation

(B) mean annual temperature

(C) Both (A) and (B)

(D) None of the above
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11. {ZÂZ{b{IV `wΩ_m| _| go H$m°Z-gm EH$ ghr

gw_o{bV Zht h°?

\$gb dmZÒn{VH$ Zm_

(A) gm±dm : gmoaK_ ~mBH$ba

(B) amJr : EbwgrZ H$moamH$mZm

(C) MrZm : n°{ZH$_ {_{b`m{g_

(D) H$mHw$Z : goQ>[a`m BQ>m{bH$m

12. {ZÂZ{b{IV `wΩ_m| _| go H$m°Z-gm EH$ ghr

gw_o{bV Zht h°?

Cd©aH$ nmofH$ VŒd H$s

_mÃm (%)

(A) `y[a`m : 46% ZmBQ¥>moOZ

(B) Â`y[aEQ> Am∞\$ nmoQ>me : 45% nmoQ>me

(C) qgJb gwna\$m∞Ò\o$Q> : 16% \$m∞Ò\$moag

(D) nmoQ>°{e`_ gÎ\o$Q> : 50% nmoQ>me

13. ewÓH$ joÃm| _| H•${f AZwgßYmZ Ho$ {bE

A›Vam©Ô¥>r` Ho$›– pÒWV h°

(A) Ho$›`m _|

(B) _opägH$mo _|

(C) ZmBOr[a`m _|

(D) gr[a`m _|

14. O~ \$gb CJmZo Ho$ _m°g_ Ho$ Xm°amZ _•Xm H$s

Z_r Am°a dfm© An`m©· hmoVr h°, Vmo AÀ`{YH$

\$gb VZmd Am°a _waPmZm H$hbmVm h°

(A) _m°g_r gyIm

(B) H•${f gyIm

(C) Obr` gyIm

(D) gyIm df©

15. ^�S>maU Q>¢H$m|, Vmbm~m| Am{X _| Ma_ dfm© H$s

Ad{Y Ho$ Xm°amZ Andmh gßJ´h H$s ‡{H´$`m H$mo

H$hm OmVm h°

(A) Am–©Vm

(B) ObJ´hU joÃ

(C) Ob gß^aU

(D) Ob gßM`Z

16. H$monoZ H$m Obdm`w dJuH$aU {H$g na

AmYm[aV h°?

(A) Am°gV dm{f©H$ dfm©

(B) Am°gV dm{f©H$ VmnH´$_

(C) (A) Edß (B) XmoZm|

(D) Cn`w©∫$ _| go H$moB© Zht
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17. Indian Institute of Farming

Systems Research is located at

(A) Meerut

(B) Ludhiana

(C) Raipur

(D) Dehra Dun

18. Which of the additional enter-

prises with existing cropping

system in uplands, yields high

returns?

(A) Silviculture

(B) Dairy

(C) Biogas

(D) All of the above

19. Which one of the following is

an important animal component

in dryland integrated farming

system?

(A) Buffalo

(B) Cow

(C) Goat

(D) None of the above

20. LEISA is related to

(A) inorganic farming

(B) natural farming

(C) organic farming

(D) dry farming

21. Which one of the following is the

coordinating agency for organic

production and export under the

brand name ‘Indian Organic’?

(A) NAFED

(B) APEDA

(C) IOFA

(D) None of the above

22. The most widely used earth-

worm species for vermi-

composting in India is

(A) Eisenia fetida

(B) Eudrilus eugeniae

(C) Lampito mauritii

(D) Bimastos parvus

23. ‘Karnal bunt’ is a disease of

which crop?

(A) Paddy

(B) Cotton

(C) Maize

(D) Wheat

24. Pradhan Mantri Fasal Bima

Yojana was introduced in the

country in the year

(A) 2014

(B) 2015

(C) 2016

(D) 2017
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17. ^maVr` H•${f ‡Umbr AZwgßYmZ gßÒWmZ

AdpÒWV h°

(A) _oaR> _|

(B) bw{Y`mZm _|

(C) am`nwa _|

(D) XohamXyZ _|

18. D$nar BbmH$m| _| _m°OyXm \$gb ‡Umbr Ho$ gmW

H$m°Z-gm A{V[a∫$ C⁄_ CÉ ‡{V\$b XoVm h°?

(A) dZ gßdY©Z

(B) S>oar

(C) ~m`moJ°g

(D) Cn`w©∫$ g^r

19. ewÓH$ ^y{_ EH$sH•$V H•${f ‡Umbr _|

{ZÂZ{b{IV _| go H$m°Z-gm EH$ _hŒdnyU©

new KQ>H$ h°?

(A) ^¢g

(B) Jm`

(C) ~H$ar

(D) Cn`w©∫$ _| go H$moB© Zht

20. LEISA gÂ~p›YV h°

(A) AO°{dH$ IoVr go

(B) ‡mH•${VH$ IoVr go

(C) O°{dH$ IoVr go

(D) ewÓH$ IoVr go

21. {ZÂZ{b{IV _| go H$m°Z-gm "Bß{S>>`Z Am∞J}{ZH$'

~´mßS> Zm_ Ho$ VhV O°{dH$ CÀnmXZ Am°a {Z`m©V

Ho$ {bE g_›d` A{^H$aU h°?

(A) Zm\o$S>

(B) EnrS>m

(C) AmB0 Amo0 E\$0 E0

(D) Cn`w©∫$ _| go H$moB© Zht

22. ^maV _| d_uH$ÂnmopÒQ>®J Ho$ {bE g~go A{YH$

Cn`moJ H$s OmZo dmbr H|$MwAm| H$s ‡Om{V h°

(A) AmBgo{Z`m \o${Q>S>m

(B) `y{S¥>bg `y{OZr

(C) b°pÂnQ>mo _m∞[a{Q>

(D) {~_mÒQ>mog nmd©g

23. "H$aZmb ~›Q>' {H$g \$gb H$s ~r_mar h°?

(A) YmZ

(B) H$nmg

(C) _∏$m

(D) Johˇ±

24. Xoe _| ‡YmZ_ßÃr \$gb ~r_m `moOZm H$s

ewÈAmV h˛B© Wr

(A) 2014 go

(B) 2015 go

(C) 2016 go

(D) 2017 go
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25. Which of the following systems

of farming does not involve

farmer?

(A) Capitalistic farming

(B) Cooperative farming

(C) Collective farming

(D) State farming

26. Which one of the following is not

correctly matched?

Crop Seed Rate

(kg/ha)

(A) Wheat : 100

(B) Urd : 20

(C) Mustard : 10

(D) Maize : 18

27. Which one of the following is not

correctly matched?

(A) Maize—Tasseling

(B) Tobacco—Topping

(C) Wheat—Tillering

(D) Chickpea—Pegging

28. Which one of the following is not

a type of farm budgeting?

(A) Complete budgeting

(B) Partial budgeting

(C) Net budgeting

(D) Enterprise budgeting

29. Which one of the following is not

correctly matched?

Crop Weed

(A) Berseem : Kasni

(B) Paddy : Bhathua

(C) Wheat : Phalaris minor

(D) Pea : Piyazi

30. System of Rice Intensification

(SRI) was developed by whom?

(A) Henri de Laulanie

(B) William Gaud

(C) Pushkar Nath

(D) Milton Whitney

31. Who is the first person used the

definition of weed?

(A) Jethro Tull

(B) Liebig

(C) Helmont

(D) Norman

32. The trade name of Fluchloralin

is

(A) Lasso

(B) Sonar

(C) Basalin

(D) Arelon
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25. {ZÂZ{b{IV _| go {H$g Vah H$s H•${f ‡Umbr

_| H•$fH$ H$s ^mJrXmar Zhrß h°?

(A) ny±OrdmXr IoVr

(B) ghH$mar IoVr

(C) gm_y{hH$ IoVr

(D) amOH$s` IoVr

26. {ZÂZ{b{IV _| go H$m°Z-gm ghr gw_o{bV

Zht h°?

\$gb ~rO Xa

({H$0 J´m0/ho0)

(A) Johˇ± : 100

(B) CaX : 20

(C) gagm| : 10

(D) _äH$m : 18

27. {ZÂZ{b{IV _| go H$m°Z-gm EH$ ghr gw_o{bV

Zht h°?

(A) _∏$m—Za _ßOar {ZH$bZm

(B) VÂ~mHy$—erf© H$V©Z

(C) Johˇ±—{H$Ño {ZH$bZm

(D) MZm—Iy±Q>r ~ZZm

28. {ZÂZ{b{IV _| go H$m°Z-gm EH$ ‡joÃ

Am`-Ï`` H$m ‡H$ma Zht h°?

(A) gÂnyU© ~OqQ>J

(B) Amß{eH$ ~OqQ>J

(C) ew’ ~OqQ>J

(D) C⁄_ ~OqQ>J

29. {ZÂZ{b{IV _oß go H$m°Z-gm EH$ ghr gw_o{bV

Zht h°?

\$gb IanVdma

(A) ~agr_ : H$mgZr

(B) YmZ : ~WwAm

(C) Johˇ± : \o$bo[ag _mBZa

(D) _Q>a : fl`mOr

30. gKZ YmZ ‡Umbr (lr) {H$gHo$ ¤mam {dH${gV

H$s JB© Wr?

(A) hoZar S>r bm°bmZr

(B) {d{b`_ JmS>

(C) nwÓH$a ZmW

(D) {_ÎQ>Z pÏhQ>≤Zr

31. IanVdma H$s n[a^mfm H$m ‡`moJ g~go nhbo

{H$g Ï`{∫$ Zo {H$`m Wm?

(A) OoW´mo Qw>b

(B) br{~J

(C) hob_m∞›Q>

(D) Zm∞_©Z

32. ‚byäbmoam{bZ H$m Ï`mnm[aH$ Zm_ h°

(A) bmgmo

(B) gmoZma

(C) ~ogm{bZ

(D) Earbm∞Z
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33. Directorate of Weed Science

Research is situated at

(A) Nagpur

(B) Jabalpur

(C) Kanpur

(D) Udaipur

34. How many essential nutrient

elements are required by plants

for their normal growth and

completion of life cycle?

(A) 14

(B) 15

(C) 16

(D) 17

35. Cobalt has been established to

be essential for which plants?

(A) Leguminous plants

(B) Oilseed plants

(C) Cereal plants

(D) None of the above

36. Who is considered ‘the father of

field plot technique’?

(A) Blackman

(B) Ramanujam

(C) J. B. Boussingault

(D) None of them

37. Flame photometer is used in

the determination of which

nutrient?

(A) Boron

(B) Phosphorus

(C) Nitrogen

(D) Potassium

38. Crop logging concept was first

tried in which crop?

(A) Sugarcane

(B) Potato

(C) Paddy

(D) None of the above

39. Urea was first produced at

(A) Bharuch (Gujarat)

(B) Sindri (Bihar)

(C) Kanpur (UP)

(D) None of the above

40. Which one of the following

irrigation methods is best for

undulating topography?

(A) Sprinkler irrigation

(B) Furrow irrigation

(C) Check basin irrigation

(D) Bed irrigation
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33. IanVdma AZwgßYmZ {ZXoemb` pÒWV h°

(A) ZmJnwa _|

(B) O~bnwa _|

(C) H$mZnwa _|

(D) CX`nwa _|

34. nm°Ym| H$mo AnZo gm_m›` {dH$mg Am°a OrdZ-

MH´$ H$mo nyam H$aZo Ho$ {bE {H$VZo AmdÌ`H$

nmofH$ VŒdm| H$s AmdÌ`H$Vm hmoVr h°?

(A) 14

(B) 15

(C) 16

(D) 17

35. H$mo~mÎQ> {H$Z nm°Ym| Ho$ {bE AmdÌ`H$ _mZm

J`m h°?

(A) XbhZr nm°Ym|

(B) {VbhZr nm°Ym|

(C) Ym›` nm°Ym|

(D) Cn`w©∫$ _| go H$moB© Zht

36. "\$sÎS> flbm∞Q> VH$ZrH$ H$m OZH$' {H$go _mZm

OmVm h°?

(A) „b°H$_°Z

(B) am_mZwO_

(C) Oo0 ~r0 ~m°qgJm∞ÎQ>

(D) BZ_| go H$moB© Zht

37. ‚bo_ \$moQ>mo_rQ>a H$m Cn`moJ {H$g nmofH$ VŒd

Ho$ {ZYm©aU _| {H$`m OmVm h°?

(A) ~moam∞Z

(B) \$m∞Ò\$moag

(C) ZmBQ¥>moOZ

(D) nmoQ>°{e`_

38. H´$m∞n bm∞qJJ AdYmaUm H$mo g~go nhbo {H$g

\$gb _| AmO_m`m J`m Wm?

(A) Jfim

(B) Amby

(C) YmZ

(D) Cn`w©∫$ _| go H$moB© Zht

39. `y[a`m H$m CÀnmXZ g~go nhbo H$hm± h˛Am Wm?

(A) ^Í$M (JwOamV)

(B) {g›Xar ({~hma)

(C) H$mZnwa (C0 ‡0)

(D) Cn`w©∫$ _| go H$moB© Zht

40. D±$Mr-ZrMr ÒWbmH•${V Ho$ {bE {ZÂZ{b{IV _|

go H$m°Z-gr qgMmB© {d{Y gdm}Œm_ h°?

(A) ~m°N>mar qgMmB©

(B) Hwß$S> {d{Y

(C) Wmbm {d{Y

(D) ä`mar {d{Y
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41. The pF value at permanent

wilting point is

(A) 0

(B) 2·0

(C) 4·2

(D) 7·0

42. Which one of the following

devices is used for measuring

irrigation water on the farm?

(A) Lysimeter

(B) Evaporimeter

(C) Tensiometer

(D) Current meter

43. The neutron moisture meter is

not useful for soil moisture

determination in which type of

soil?

(A) Organic soil

(B) Acidic soil

(C) Laterite soil

(D) Alluvial soil

44. Which one of the following crops

is highly tolerant to salt?

(A) Potato

(B) Gram

(C) Maize

(D) Sugarcane

45. What is the particle density

range for most of the mineral

soils?

(A) 1·8–2·0 mg/m3

(B) 2·5–2·7 mg/m3

(C) 3·1–3·3 mg/m3

(D) 3·6–3·8 mg/m3

46. Inherent capacity of a soil to

supply nutrients to plants in

adequate amount and in

suitable proportion is called

(A) fertility index

(B) soil productivity

(C) productivity index

(D) soil fertility

47. Which one of the following is not

a principal agent of physical

weathering?

(A) Hydrolysis

(B) Wind

(C) Water

(D) Temperature

48. According to land use statistics

2018–19, the net irrigated area

of India is

(A) 71·6 m-ha

(B) 78·9 m-ha

(C) 83·5 m-ha

(D) 88·4 m-ha
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41. ÒWm`r _waPmZ {~›Xw na nr0 E\$0 (pF) H$m

_mZ hmoVm h°

(A) 0

(B) 2·0

(C) 4·2

(D) 7·0

42. {ZÂZ{b{IV _| go {H$g CnH$aU H$m Cn`moJ

IoV _| qgMmB© Ho$ nmZr H$mo _mnZo Ho$ {bE

{H$`m OmVm h°?

(A) bmBgr_rQ>a

(B) Ed°nmoar_rQ>a

(C) Q>op›g`mo_rQ>a

(D) H$ao›Q> _rQ>a

43. ›`yQ¥>m∞Z Z_r _rQ>a {H$g ‡H$ma H$s _•Xm _| _•Xm

Z_r {ZYm©[aV H$aZo Ho$ {bE Cn`moJr Zht h°?

(A) H$m~©{ZH$ _•Xm

(B) AÂbr` _•Xm

(C) b°Qo>amBQ> _•Xm

(D) EÎ`y{d`b _•Xm

44. {ZÂZ{b{IV _| go H$m°Z-gr \$gb bdU Ho$

‡{V AÀ`{YH$ g{hÓUw h°?

(A) Amby

(B) MZm

(C) _∏$m

(D) Jfim

45. A{YH$mße I{ZO _•Xm Ho$ {bE H$U KZÀd-

gr_m ä`m h°?

(A) 1·8–2·0 {_0 J´m0/KZ _r0

(B) 2·5–2·7 {_0 J´m0/KZ _r0

(C) 3·1–3·3 {_0 J´m0/KZ _r0

(D) 3·6–3·8 {_0 J´m0/KZ _r0

46. nm°Ym| H$mo n`m©· _mÃm _| Am°a C{MV AZwnmV _|

nmofH$ VŒd ‡XmZ H$aZo H$s _•Xm H$s AßV{Z©{hV

j_Vm H$hbmVr h°

(A) Cd©aVm gyMH$mßH$

(B) _•Xm CÀnmXH$Vm

(C) CÀnmXH$Vm gyMH$mßH$

(D) _•Xm Cd©aVm

47. {ZÂZ{b{IV _| go H$m°Z-gm ^m°{VH$ Anj` H$m

‡_wI EO|Q> Zht h°?

(A) Obr` gßb`Z

(B) dm`w

(C) nmZr

(D) VmnH´$_

48. ^y{_ Cn`moJ gmßpª`H$s 2018–19 Ho$

AZwgma, ^maV H$m ew’ qg{MV joÃ\$b h°

(A) 71·6 _r0 ho0

(B) 78·9 _r0 ho0

(C) 83·5 _r0 ho0

(D) 88·4 _r0 ho0
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49. Central Institute of Medicinal

and Aromatic Plants is situated

at

(A) Chennai

(B) Shimla

(C) Nainital

(D) Lucknow

50. The requirement of di-

ammonium phosphate for

supplying 36 kg N and 92 kg

P O2 5 to one hectare crop is

(A) 200 kg

(B) 250 kg

(C) 300 kg

(D) 350 kg

51. Which scientist gives criteria of

essentiality of nutrients for

plants?

(A) J. V. Liebig

(B) J. H. Gilbert

(C) A. I. Arnon

(D) A. Gris

52. Calculate the yield of wheat per

hectare, if the number of

earheads per square meter is

250, number of grains per

earhead is 50 and 1000 grains

weight is 45·36 g.

(A) 52·8 quintal

(B) 56·7 quintal

(C) 58·2 quintal

(D) 62·4 quintal

53. If one has to apply 0·65 kg

a.i./ha of 80% atrazine, then

quantity of atrazine required

would be

(A) 0·45 kg

(B) 0·58 kg

(C) 0·73 kg

(D) 0·81 kg

54. Sunflower oil is rated as good

quality oil because it contains

(A) low quantities of saturated

fatty acids

(B) low quantities of un-

saturated fatty acids

(C) high quantities of saturated

fatty acids

(D) high quantities of un-

saturated fatty acids

55. Avrodhi variety of chickpea is

resistant to which of the

following?

(A) Wilt

(B) Flooding

(C) Drought

(D) Blight

56. The processing of separating

fibre from seed cotton is known

as

(A) curing

(B) wetting

(C) ginning

(D) retting
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49. Ho$›–r` Am°fYr` Edß gJßY nm°Ym gßÒWmZ

pÒWV h°

(A) MofiB© _|

(B) {e_bm _|

(C) Z°ZrVmb _|

(D) bIZD$ _|

50. EH$ hoäQ>o`a \$gb H$mo 36 {H$0 J´m0 ZmBQ¥>moOZ

Am°a 92 {H$0 J´m0 \$m∞Ò\$moag H$s Amny{V© Ho$

{bE S>mBA_mo{Z`_ \$m∞Ò\o$Q> H$s AmdÌ`H$Vm

hmoVr h°

(A) 200 {H$0 J´m0

(B) 250 {H$0 J´m0

(C) 300 {H$0 J´m0

(D) 350 {H$0 J´m0

51. nm°Ym| Ho$ {bE nmofH$ VŒdm| H$s A{Zdm`©Vm H$m

_mnX�S> {H$g d°km{ZH$ Zo {X`m?

(A) Oo0 dr0 br{~J

(B) Oo0 EM0 {Jb~Q>©

(C) E0 AmB0 AaZm∞Z

(D) E0 {J´g

52. ‡{V hoäQ>o`a Johˇ± H$s CnO H$s JUZm H$s{OE,

`{X ‡{V dJ©_rQ>a ~m{b`m| H$s gßª`m 250 h°,

‡{V ~mbr XmZm| H$s gßª`m 50 h° Am°a 1000

XmZm| H$m dOZ 45·36 J´m_ h°ü&

(A) 52·8 qπ$Q>b

(B) 56·7 qπ$Q>b

(C) 58·2 qπ$Q>b

(D) 62·4 qπ$Q>b

53. `{X {H$gr H$mo 80% EQ¥>mOrZ H$m

0·65 {H$0 J´m0 g{H´$` KQ>H$ ‡{V hoäQ>o`a

bJmZm h°, Vmo AmdÌ`H$ EQ¥>mOrZ H$s

_mÃm hmoJr

(A) 0·45 {H$0 J´m0

(B) 0·58 {H$0 J´m0

(C) 0·73 {H$0 J´m0

(D) 0·81 {H$0 J´m0

54. gyaO_wIr Vob H$mo A¿N>r JwUdŒmm dmbo Vob Ho$

Í$n _| XOm© {X`m J`m h°, ä`m|{H$ Bg_| nmB©

OmVr h°

(A) gßV•· dgr` AÂbm| H$s H$_ _mÃm

(B) AgßV•· dgr` AÂbm| H$s H$_ _mÃm

(C) gßV•· dgr` AÂbm| H$s CÉ _mÃm

(D) AgßV•· dgr` AÂbm| H$s CÉ _mÃm

55. MZo H$s AdamoYr {H$Ò_ {H$gHo$ ‡{V

‡{VamoYr h°?

(A) CH$R>m amoJ

(B) ~mãT>

(C) gyIm

(D) Pwbgm amoJ

56. ~rO H$nmg go aoeo H$mo AbJ H$aZo H$s ‡{H´$`m

H$mo H$hm OmVm h°

(A) ä`y[a®J

(B) doqQ>J

(C) {OqZJ

(D) aoqQ>J
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57. Which one of the following is a

variety of sugar beet?

(A) Pusa Jaikisan

(B) Shubhra

(C) Neelam

(D) Kaushal

58. How many pieces of citronella

are required for planting one

hectare area?

(A) 40000–42000

(B) 45000–47000

(C) 50000–52000

(D) 55000–57000

59. The oil content in safflower is

(A) 18%–20%

(B) 28%–32%

(C) 38%–40%

(D) 42%–45%

60. Bahar is a variety of which crop?

(A) Pigeon pea

(B) Mung bean

(C) Urd bean

(D) Lentil

61. The term ‘nanotechnology’ was

first coined by

(A) Jethro Tull

(B) Richard Feynman

(C) Norio Taniguchi

(D) None of them

62. Which of the following is non-

selective herbicide?

(A) Quizalofop ethyl

(B) 2,4-D

(C) Atrazine

(D) Glyphosate

63. Normal ploughing is done up to

a depth of

(A) 5 cm

(B) 15 cm

(C) 30 cm

(D) 50 cm

64. Ryegrass is used as

(A) grain crop

(B) forage crop

(C) oilseed crop

(D) None of the above
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57. {ZÂZ{b{IV _| go H$m°Z-gr MwHß$Xa H$s EH$

{H$Ò_ h°?

(A) nygm O` {H$gmZ

(B) eŵ ´m

(C) Zrb_

(D) H$m°eb

58. EH$ hoäQ>o`a joÃ _| amonU hoVw {gQ¥>moZobm Ho$

{H$VZo Qw>H$ãS>moß H$s AmdÌ`H$Vm hmoVr h°?

(A) 40000–42000

(B) 45000–47000

(C) 50000–52000

(D) 55000–57000

59. Hw$gw_ _| Vob H$s _mÃm hmoVr h°

(A) 18%–20%

(B) 28%–32%

(C) 38%–40%

(D) 42%–45%

60. ~hma {H$g \$gb H$s ‡Om{V h°?

(A) Aaha

(B) _y±J

(C) CaX

(D) _gya

61. "Z°ZmoVH$ZrH$s (Z°ZmoQ>oäZmobm∞Or)' e„X gd©‡W_

{H$gZo Ï`dhma _| bm`m?

(A) OoW´mo Qy>b

(B) [aMS>© \o$Z_°Z

(C) Zmo[a`mo VmZrJwMr

(D) BZ_| go H$moB© Zht

62. {ZÂZ{b{IV _| go H$m°Z-gm J°a-M`ZmÀ_H$

(Zm∞Z-gobopäQ>d) IanVdmaZmer h°?

(A) {π$Ombmo\$m∞n BWmBb

(B) 2,4-D

(C) EQ¥>mOrZ

(D) ΩbmB\$mogoQ>

63. gmYmaU OwVmB© {H$g JhamB© VH$ H$s OmVr h°?

(A) 5 go0 _r0

(B) 15 go0 _r0

(C) 30 go0 _r0

(D) 50 go0 _r0

64. amB© Kmg H$m Cn`moJ {H$g Vah go {H$`m

OmVm h°?

(A) AZmO \$gb

(B) Mmam \$gb

(C) {VbhZr \$gb

(D) Cn`w©∫$ _| go H$moB© Zht
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65. Which of the following two

species of cotton are referred as

New World Cottons?

(A) Gossypium arboreum and

Gossypium herbaceum

(B) Gossypium hirsutum and

Gossypium barbadense

(C) Gossypium arboreum and

Gossypium barbadense

(D) Gossypium hirsutum and

Gossypium herbaceum

66. The term IW/CPE ratio is

associated with

(A) water use efficiency

(B) scheduling of irrigation

(C) water productivity

(D) All of the above

67. The volume of pretilachlor

(50 EC) needed for praying in

one acre land of rice at the rate

of 0·75 litre a.i./ha would be

(A) 1·00 L

(B) 1·25 L

(C) 1·5 L

(D) 0·6 L

68. The chemical group of paraquat

is

(A) bipyridyliums

(B) dinitroanilines

(C) amides

(D) nitriles

69. At acidic (pH 5·5) conditions,

which ion is dominant in the

soil?

(A) H PO2 4
-

(B) HPO4
2-

(C) PO4
3-

(D) All of the above

70. Ageratum conyzoides belongs to

family

(A) Brassicaceae

(B) Poaceae

(C) Asteraceae

(D) Leguminosae

71. The requirement of nursery area

for transplanting of tobacco in

1 ha land would be

(A) 50 2m

(B) 100 2m

(C) 200 2m

(D) 800 2m

72. The type of germination in mung

bean is called

(A) hypogeal

(B) epigeal

(C) hypoepigeal

(D) epihypogeal
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65. {ZÂZ{b{IV H$nmg H$s H$m°Z-gr Xmo ‡Om{V`m±

ZB© Xw{Z`m H$s H$nmg (New World

Cottons) h¢?

(A) Jmo{g{n`_ A~m}[a`_ Edß Jmo{g{n`_
h~}{g`_

(B) Jmo{g{n`_ {hgw©Q>_ Edß Jmo{g{n`_
~a~mS>o›g

(C) Jmo{g{n`_ A~m}[a`_ Edß Jmo{g{n`_
~a~mS>o›g

(D) Jmo{g{n`_ {hgw©Q>_ Edß Jmo{g{n`_
h~}{g`_

66. AmB0 S>„Î`y/gr0 nr0 B©0 (IW/CPE)

AZwnmV H$m gÂ~›Y {H$ggo h°?

(A) Ob Cn`moJ j_Vm

(B) qgMmB© H$m g_`-{ZYm©aU

(C) Ob CÀnmXH$Vm

(D) Cn`w©∫$ g^r

67. YmZ \$gb Ho$ EH$ EH$ãS> joÃ _| ‡o{Q>bmäbmoa

(50 B©0 gr0) Xdm H$s 0·75 brQ>a g{H´$`

VŒd ‡{V hoäQ>o`a H$s Xa go {N>ãS>H$md Ho$ {bE

{H$VZr _mÃm H$s OÍ$aV hmoJr?

(A) 1·00 br0

(B) 1·25 br0

(C) 1·5 br0

(D) 0·6 br0

68. n°amπ$mQ> H$m amgm`{ZH$ g_yh ä`m h°?

(A) ~mBnmB[a{S>{b`_

(B) S>mBZmBQ¥>moE{ZbrZ

(C) E_mBS>

(D) ZmBQ¥>mBb

69. AÂbr` (5·5 pH) AdÒWm na _•Xm _| {H$g

Am`Z H$s ‡MwaVm hmoVr h°?

(A) H PO2 4
-

(B) HPO4
2-

(C) PO4
3-

(D) Cn`w©∫$ g^r

70. E{OaoQ>_ H$moZrOmoBS≤>g {ZÂZ{b{IV _| go {H$g

Hw$b H$m h°?

(A) ~ógrHo$gr

(B) nmoEgr

(C) EoÒQ>>aogr

(D) boΩ`w{_Zmogr

71. EH$ hoäQ>o`a joÃ _| VÂ~mHy$ \$gb ‡{VamonU Ho$

{bE nm°Yembm H$m joÃ {H$VZm hmoJm?

(A) 50 dJ© _r0

(B) 100 dJ© _r0

(C) 200 dJ© _r0

(D) 800 dJ© _r0

72. _y±J _| {H$g Vah H$m AßHw$aU hmoVm h°?

(A) hmBnmo{O`b

(B) E{n{O`b

(C) hmBnmoE{n{O`b

(D) E{nhmBnmo{O`b
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73. Sri Subhash Palekar is related

to

(A) natural farming

(B) homa farming

(C) biodynamic farming

(D) natueco farming

74. Mono-cropping is practiced in

areas which receive annual

rainfall _____ mm.

(A) <750

(B) >750

(C) >1000

(D) >1200

75. Deficient amino acid in cereal is

(A) methionine

(B) glycine

(C) lysine

(D) cysteine

76. Which of the following is not an

agronomic erosion preventing

measure?

(A) Contour bunding

(B) Tillage

(C) Contour cultivation

(D) Mulching

77. Essentiality of nutrients was

given by

(A) Donald

(B) Brays

(C) Arnon and Stout

(D) Liebig

78. Rain fed farming is cultivation of

crops where annual rainfall is

(A) less than 750 mm

(B) more than 750 mm

(C) more than 1150 mm

(D) less than 1150 mm

79. Precision agriculture is also

known as

(A) satellite farming

(B) specific farming

(C) nanotech farming

(D) conservation agriculture

80. To know the change in cropping

pattern of a particular area,

which one is the best measure to

consider?

(A) Satellite navigation

(B) GPS

(C) Satellite imagery

(D) All of the above
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73. lr gw^mf nmboH$a {H$ggo gÂ~p›YV h¢?

(A) ‡mH•${VH$ IoVr

(B) hmo_m IoVr

(C) ~m`moS>m`Zo{_H$ IoVr

(D) Z°Q>ÁyH$mo IoVr

74. EH$b \$gb ‡Umbr CZ joÃm| _| H$s OmVr h°,

Ohm± dm{f©H$ dfm©nmV _____ {_0 _r0 hmoVm

h°ü&

(A) <750

(B) >750

(C) >1000

(D) >1200

75. Ym›` \$gbm| _| H$_ _mÃm _| nm`m OmZo dmbm

Eo{_Zmo E{gS> H$m°Z-gm h°?

(A) _o{W`mo{ZZ

(B) ΩbmB{gZ

(C) bmB{gZ

(D) {gÒQ>rZ

76. {ZÂZ{b{IV _| go H$m°Z-gr _•Xm AnaXZ amoH$Zo

H$s eÒ` VH$ZrH$ Zht h°?

(A) H$›Qy>a ~p›S>®J

(B) {Q>boO

(C) H$›Qy>a IoVr

(D) _pÎM®J

77. nmofH$ VŒdm| H$s A{Zdm`©Vm H$m {g’m›V

{H$gHo$ ¤mam {X`m J`m?

(A) S>moZmÎS>

(B) ~óg

(C) AaZm∞Z Am°a ÒQ>mCQ>

(D) br{~J

78. \$gbm| H$s IoVr, Ohm± dm{f©H$ dfm©nmV _____

hmo, dfm© Am{lV H•${f H$hbmVr h°ü&

(A) 750 {_0 _r0 go H$_

(B) 750 {_0 _r0 go ¡`mXm

(C) 1150 {_0 _r0 go ¡`mXm

(D) 1150 {_0 _r0 go H$_

79. {‡{gOZ H•${f H$mo _____ Ho$ Zm_ go ^r OmZm

OmVm h°ü&

(A) g°Q>obmBQ> H•${f

(B) Òno{g{\$H$ H•${f

(C) Z°ZmoVH$ZrH$ H•${f

(D) gßajU H•${f

80. {H$gr joÃ {deof H$s \$gb n’{V _| ~Xbmd

H$mo OmZZo Ho$ {bE {ZÂZ{b{IV _| go {H$g

Cnm` H$mo OmZZm g~go OÍ$ar h°?

(A) g°Q>obmBQ> Z°{dJoeZ

(B) Or0 nr0 Eg0

(C) g°Q>obmBQ> B_oOar

(D) Cn`w©∫$ g^r
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81. Azolla biofertilizer is mainly

used in

(A) sorghum

(B) rice

(C) finger millets

(D) maize

82. In which rice, lodging does not

occur?

(A) Indica rice

(B) Japonica rice

(C) Javanica rice

(D) All of the above

83. The inflorescence of sugarcane

is known as

(A) arrow

(B) panicle

(C) capitulum

(D) racemose

84. Which of the following is best

example of catch crop?

(A) Lentil

(B) Mustard

(C) Toria

(D) Groundnut

85. International Potato Research

Centre is situated at

(A) Shimla

(B) Peru

(C) Rome

(D) USA

86. Cyperus rotundus is also known

as

(A) nut grass

(B) Japanese grass

(C) tough grass

(D) elephant grass

87. Which of the following is a sedge

weed?

(A) Cyperus spp.

(B) Cynodon

(C) Avena

(D) Echinochloa

88. Crop-weed competition period in

transplanted rice is

(A) 15–25 DAT

(B) 30–45 DAT

(C) 25–30 DAT

(D) 45–60 DAT
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81. _wª`VÖ {H$g \$gb _| EOmobm H$m Cn`moJ

{H$`m OmVm h°?

(A) ¡dma

(B) YmZ

(C) amJr

(D) _∏$m

82. {H$g YmZ _| bm∞{OßJ Zht hmoVm h°?

(A) Bß{S>H$m YmZ

(B) Omnmo{ZH$m YmZ

(C) Omdm{ZH$m YmZ

(D) Cn`w©∫$ g^r

83. Jfio H$m nwÓnH´$_ H$hbmVm h°

(A) Eamo

(B) n°{ZH$b

(C) H°${nQw>b_

(D) ao{g_mog

84. {ZÂZ{b{IV _| go H$m°Z-gm H°$M H´$m∞n H$m g~go

A¿N>m CXmhaU h°?

(A) _gya

(B) gagm|

(C) Vmo[a`m

(D) _y±J\$br

85. AßVam©Ô¥>r` Amby AZwgßYmZ Ho$›– H$hm± pÒWV h°?

(A) {e_bm

(B) noÍ$

(C) amo_

(D) `y0 Eg0 E0

86. gmBnag amoQ>ßS>g H$mo _____ ^r H$hVo h°ßü&

(A) ZQ> J´mg

(B) O°nZrO J´mg

(C) Q>\$ J´mg

(D) Ebr\¢$Q> J´mg

87. {ZÂZ{b{IV _| go goO IanVdma H$m°Z-gm h°?

(A) _moWm

(B) Xy~

(C) OßJbr OB©

(D) gm±dm

88. ‡{Vamo{nV YmZ _|, \$gb IanVdma ‡{VÒnYm©

Ad{Y h°

(A) amonm Ho$ 15–25 {XZm| Ho$ ~mX

(B) amonm Ho$ 30–45 {XZm| Ho$ ~mX

(C) amonm Ho$ 25–30 {XZm| Ho$ ~mX

(D) amonm Ho$ 45–60 {XZm| Ho$ ~mX
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89. Weed dispersal happens in

Tridax procumbens by

(A) comose

(B) balloon

(C) pappus

(D) None of the above

90. Bamboo drip irrigation is

practised in which State?

(A) Chhattisgarh

(B) Telangana

(C) Maharashtra

(D) Meghalaya

91. The gas generated from the cow

dung during anaerobic

decomposition is called as

(A) biogas

(B) methane gas

(C) CO2

(D) All of the above

92. IFOAM stands for

(A) International Federation

of Organic Agriculture

Movement

(B) Indian Federation of Organic

Agriculture Movement

(C) International Federation of

Organic Agri Movement

(D) Indian Federation of

Organic Agri Movement

93. Nutrient composition of _____

contains 0·5% N, 0·2% P O2 5 and

0·5% K O2 .

(A) FYM

(B) vermicompost

(C) sheep manure

(D) goat manure

94. Bactra verutana is used as

bioagent in which plant?

(A) Cyperus rotundus

(B) Parthenium hysterophorus

(C) Ludwigia parviflora

(D) Opuntia dillenii

95. Which of the following is a

biennial weed?

(A) Daucus carota

(B) Cirsium vulgare

(C) Cichorium intybus

(D) All of the above
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89. Q¥>mBS>oäg ‡moH$_~o›g Ho$ ~rOm| H$m \°$bmd

(‡gma) _____ ¤mam hmoVm h°ü&

(A) H$mo_mog

(B) ~°byZ

(C) n°ng

(D) Cn`w©∫$ _| go H$moB© Zht

90. ~m±g S¥>rn qgMmB© {H$g am¡` _| ‡M{bV h°?

(A) N>ŒmrgJãT>

(B) VobßJmZm

(C) _hmamÔ¥>

(D) _oKmb`

91. hdm H$s AZwnpÒW{V _| AnKQ>Z (Adm`dr`)

Ho$ Xm°amZ Jm` Ho$ Jmo~a go CÀnfi hmoZo dmbr J°g

H$hbmVr h°

(A) ~m`moJ°g

(B) _rWoZ J°g

(C) H$m~©Z S>mBAm∞ägmBS> J°g

(D) Cn`w©∫$ g^r

92. IFOAM H$m _Vb~ h°

(A) BßQ>aZ°eZb \o$S>aoeZ Am∞\$ Am∞J}{ZH$

EJ´rH$ÎMa _yd_|Q>

(B) Bß{S>`Z \o$S>aoeZ Am∞\$ Am∞J}{ZH$

EJ´rH$ÎMa _yd_|Q>

(C) BßQ>aZ°eZb \o$S>aoeZ Am∞\$ Am∞J}{ZH$ EJ´r

_yd_|Q>

(D) Bß{S>`Z \o$S>aoeZ Am∞\$ Am∞J}{ZH$ EJ´r

_yd_|Q>

93. {H$gHo$ nmofH$ VŒd _| 0·5% N, 0·2%

P O2 5 Am°a 0·5% K O2 hmoVm h°?

(A) \$m_© `mS>© _°›`moa

(B) d_u H$ÂnmoÒQ>

(C) ^oãS> H$s ImX (ern _°›`moa)

(D) ~H$ar H$s ImX (JmoQ> _°›`moa)

94. ~°äQ¥>m doÍ$Q>mZm H$m Cn`moJ {H$g nm°Yo H$mo

{Z`ß{ÃV H$aZo Ho$ {bE ~m`moEO|Q> Ho$ Í$n _|

{H$`m OmVm h°?

(A) gmBnag amoQ>ßS>g

(B) nmW}{Z`_ {hÒQ>oamo\$moag

(C) bwS>{d{O`m nma{d‚bmoam

(D) Amonwp›g`m {S>boZr

95. {ZÂZ{b{IV _oß go H$m°Z-gm {¤dm{f©H$ IanVdma

h°?

(A) S>m°H$g H°$amoQ>m

(B) {ga{g`_ dÎJ°a

(C) {gH$mo[a`_ BßQ>mB~g

(D) Cn`w©∫$ g^r
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96. List–I and List–II contain

crops and corresponding water

requirement, respectively below.

Match the columns and choose

the correct combination from

the code given below :

List—I List—II

a. Pea 1. 600 mm

b. Sunflower 2. 350 mm

c. Sugarcane 3. 500 mm

d. Maize 4. 1500 mm

Code :

(A) a b c d

2 1 4 3

(B) a b c d

1 2 3 4

(C) a b c d

4 3 1 2

(D) a b c d

3 2 1 4

97. If recommended dose of fertilizer

for finger millet is 40 : 30 : 20 kg

N : P : K/ha, then what amount

of fertilizer required for one acre

area, if the source is urea, DAP

and MoP, respectively?

(A) 61 : 65 : 33

(B) 24·5 : 26 : 13

(C) 86·8 : 65 : 33

(D) 34·7 : 26 : 13

98. Which of the following is a

P-mobilizing biofertilizer?

(A) Bacillus polymyxa

(B) Pseudomonas striata

(C) Aspergillus niger

(D) All of the above

99. ‘The father of community-led

watershed development in India’

is

(A) Hermann Bacher

(B) Verghese Kurien

(C) Sam Pitroda

(D) None of them

100. List–I and List–II contain crops

and corresponding family,

respectively. Match the columns

and choose the correct

combination from the code given

below :

List—I List—II

a. Cotton 1. Malvaceae

b. Jute 2. Pedaliaceae

c. Linseed 3. Linaceae

d. Sesame 4. Tiliaceae

Code :

(A) a b c d

1 2 3 4

(B) a b c d

2 3 4 1

(C) a b c d

1 4 3 2

(D) a b c d

4 1 3 2
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96. gyMr–I Am°a gyMr–II _| H´$_eÖ \$gbm| Am°a

gÂ~p›YV nmZr H$s AmdÌ`H$Vm H$m {ddaU

{X`m J`m h°ü& gy{M`m| H$m {_bmZ H$s{OE Am°a

ZrMo {XE JE Hy$Q> go ghr gß`moOZ Mw{ZE :

gyMr–I gyMr–II

a. _Q>a 1. 600 {_0 _r0

b. gyaO_wIr 2. 350 {_0 _r0

c. Jfim 3. 500 {_0 _r0

d. _∏$m 4. 1500 {_0 _r0

Hy$Q> :

(A) a b c d

2 1 4 3

(B) a b c d

1 2 3 4

(C) a b c d

4 3 1 2

(D) a b c d

3 2 1 4

97. `{X amJr Ho$ {bE Cd©aH$ H$s AZweß{gV _mÃm

40 : 30 : 20 {H$0 J´m0, EZ0 nr0 Ho$0

‡{V hoäQ>o`a h°, Vmo EH$ EH$ãS> joÃ Ho$ {bE

{H$VZo Cd©aH$ H$s AmdÌ`H$Vm hmoJr, `{X ÚmoV

H´$_eÖ `y[a`m, S>r0 E0 nr0 Am°a Â`y[aEQ>

Am∞\$ nmoQ>me h¢?

(A) 61 : 65 : 33

(B) 24·5 : 26 : 13

(C) 86·8 : 65 : 33

(D) 34·7 : 26 : 13

98. {ZÂZ{b{IV _oß go H$m°Z-gm nr0-_mo{~bmBqOJ

O°d Cd©aH$ h°?

(A) ~°grbg nm∞{b{_ägm

(B) Ò`yS>mo_moZmg ÒQ¥>oQ>m

(C) AÒn{O©bg ZmBOa

(D) Cn`w©∫$ g^r

99. "^maV _| g_wXm` Ho$ ZoV•Àd dmbr dmQ>aeoS>

{dH$mg' Ho$ OZH$ h¢

(A) ha_Z ~mMoa

(B) dJuO Hw$[a`Z

(C) g°_ {nÃmoXm

(D) BZ_| go H$moB© Zht

100. gyMr–I Am°a gyMr–II _| H´$_eÖ \$gbm| Am°a

gÂ~p›YV Hw$b H$m {ddaU {X`m J`m h°ü&

gy{M`m| H$m {_bmZ H$s{OE Am°a ZrMo {XE JE

Hy$Q> go ghr gß`moOZ Mw{ZE :

gyMr–I gyMr–II

a. H$nmg 1. _mbdogr

b. OyQ> 2. noS>m{bEgr

c. Vrgr 3. {bZogr

d. {Vb 4. {Q>{bEgr

Hy$Q> :

(A) a b c d

1 2 3 4

(B) a b c d

2 3 4 1

(C) a b c d

1 4 3 2

(D) a b c d

4 1 3 2
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